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0.1 Bidirectional Recurrent Neural Networks

Iam _____
I am _____ very hungry,
I am _____ very hungry, I could eat half a pig.
H, =W + H, Wi 1 b)),
H =W + 1w b)),
Output

O: = HiWy; + by,

0.1.1 Doing it wrong

In [ ]: import sys
sys.path.insert(0, '..")

import d21
from mxnet import nd
from mxnet.gluon import rnn

(corpus_indices, char_to_idx, idx_to_char, vocab_size) = d21.load_data_time_machine()

num_inputs, num_hiddens, num_layers, num_outputs = vocab_size, 256, 2, vocab_size
ctx = d21.try_gpu()

num_epochs, num_steps, batch_size, lr, clipping_theta = 1000, 35, 32, 100, le-2
pred_period, pred_len, prefixes = 200, 50, ['traveller', 'time traveller']

lstm_layer = rnn.LSTM(hidden_size = num_hiddens, num_layers=num_layers,
bidirectional = True)
model = d21.RNNModel (lstm_layer, vocab_size)

In [1]: d21.train_and_predict_rnn_gluon(model, num_hiddens, vocab_size, ctx,
corpus_indices, idx_to_char, char_to_idx,
num_epochs, num_steps, lr, clipping_theta,
batch_size, pred_period, pred_len, prefixes)



epoch 200, perplexity 1.120558, time 0.10 sec
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- time travellerererererererererererererererererererererererererer
epoch 400, perplexity 1.054240, time 0.10 sec
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epoch 600, perplexity 1.007709, time 0.10 sec

- travellererer brececededededededededededededededededededede

- time travellerererer brecededededededededededededededededededede
epoch 800, perplexity 1.009584, time 0.10 sec
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- time traveller (fffrfrfrf thee presesesesesesesesesesesesesesese
epoch 1000, perplexity 1.005260, time 0.10 sec
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